—log1o(p)

—logio(p)

—logio(p)

—log1o(p)

—log10(p)

—log1o(p)

14:0

20

12 3456 8 9 11121315 17 181920 21224283
Linkage group

NA

12 3456 8 9 11121315 17 181920 212242833
Linkage group

4 .
2
0
12 3456 8 9 11121315 17 181920 212242833 NA
Linkage group
18:0
.
.
9
.
.
5 .
3
0
12 3456 8 9 11121315 17 181920 212242833 NA
Linkage group
.
18:1(9)
10.0 .
75 :
50
25
0.0
12 34568 9 11121315 17 181920 21224283 NA
Linkage group
18:1*
.
6 .
4 T
2
0

12 3456 8 9 11121315 17 181920 212242833
Linkage group

NA

o 12 . 12 .
20
. 9 L4
15 . °
g . " ,'.
2 : 6
10 ° 83 K N r ]
T I
. M .
5 ° N 3
H
0 0
1 2 8 4 5 12 34568 9 11121315 17 181920 212242833 NA o1 2.8 45
Expected —logio(p) Linkage group Expected ~logio(p)
8 oo 6 - ®
4 o
6 L)
4 3
g
s
4 &> 2
o
[
2 1
0 0 0
1 2 3 45 12 84568 9 11121315 17 181920 212242833 NA 0 1 28 45
Expected —logso(p) Linkage group Expected —logo(p)
.
20:0
. L]
4 9 . 9 .
3 — "
3 .
s °
2 3
T
3
, 3
0 0 0
ot 2 8 4 5 T 2 34568 9 11121315 17 181920 212242833 NA ot o2 s 48
Expected —log+o(p) Linkage group Expected ~10g10(p)
.
20:1
. . . . .
L]
9 . : o
- 5 E : °
. I~ N
3 . .
6 S 3
S 4 4
o
|
3
R 2
0 0 0
ot 2 8 4 5 T2 34568 9 11121315 17 181920 212242833 NA ot o2 s 48
Expected —logio(p) Linkage group Expected ~logio(p)
10.0 e ® . .
. .
. 9 9
75 ’
Y = i . R /
[ 5 6 . :
50 > . [
3 i
|
25 3 3
00 o 0
o2z 8 45 T2 34568 9 11121315 17 181920 212242833 NA ot o2 s 48
Expected ~logro(p) Linkage group Expected —logro(p)
L]
L]
6 [
L ]
I 4
4
2
0
o 1 2 3 4 &

Expected —logio(p)




